ANy FERrvS s=1/4
(#2472 (L, S) (E5—12

547)
30

-

145

= o

r_¢
i

¢ 180
¢ 230

¢ 265

&Y S=1/1

VSLIKAT > A—T

k> FED

v/

TRV RFa—T454

O

7 (E

=/
5_

TFoA—A~AY K S=1,/2

(¢ 12. TomA)

N
Wrms

SZAN
(SR
XX

¢ 90
¢ 117

S—=ILT 4 RY (LK)

X

\V7

N
N AN/

AN
(A

-
A
X

()

JNUT—+S—R S=1/4

NN

(AN

‘V‘V'A
/TR

#95

¢ 96
86

(E5—12447)

12WP-#95)

JaAvrIL—Fk Ss=1-2

(EB—12 %47

Zl
Z

¢ 150

2. 0/

Ss=1/2

e —— N
7
160 —H-
30 (S
(L)
(FILSEAT)
-—
|
— N
1 ik
1o
300
aqvbtarph— s=1,/2
(EB—124847)
2
A_BK 4
=
N
ﬁ—/ 1
19 216
T
AR—Y— S=1./2 RNV E Ss=1./2
#95 A (BAA )

i=Li5,0

#95 A

¢ 113
¢ 170

IEFNI

PaAd bRY=T s=1/4

491
¢ 82

(

#95

15

IR

0o

XER S=1,/5

(BMERAVF) (E5E—12847)

avy)—+r#E  Ocp=20N/mm’
(15N/mm? )

¢ 129

IVRFvyyS S=1/4
#95 (SP)

180

-

AN

FEASM T s=1.1

Y
o

¢ 20

350

84

U/
@®
%@

/4

\

RER

-

)
@
)

| Il
N
¢ 84
¢ 95

i

10
©)
®
@
®

)
$95

O

—
—
——
—
9

$ 95

120

TRV EFa—T s=1/1

¢15.5

¢ 13. 5

1N
\J )

O

330
(370)

H¥AJWHOHE TR, BRAAUIFN (Al) 01/2KBYET.

~yRxvyd PASSADiEM

2012.02,.20




